1. Question: 'CTIATE T (] AT (FTT AIFFe?

A) T e
B) (HF (MR
C) 515 Syee
D) IIESISE

Answer: B) GRS (IR y

Explanation: (STITE 311 (A1 S8 (Swatch of No Ground) A7 SiiFfed SRS SIAMRFT A7 fSIfFTs,
T IETHET FACAE FIIFSIT Aowy F@E®@| A6 I-F57@ IR A6 Ao | 551 AW
Fers afb IfFfew| S IRAGATI

2. Question: I ffS (F 51F (IF FIMN 75 ROTE 39 F& (@72

A) TP TTF
B) IG 71

C) 89 v
D) g w1

Answer: B) TG W&

Explanation: ST&T ¥ TEF F1= B 9Ff6 Safzm a1 @er 8 [{weT f6:f%7 s I
TA®|

3. Question: IR XY NS TR KT (@1 o W@ o T3 ®?

A) SSo

B) S5

C) Szo

D) 559

Answer: A) SSo

Explanation: IRNTCTE SIFHET T8 TR golF AT A 59 3 Sepam "THH
ERIART" S I AR

4. Question: (fATSTTIT SRIF TT; ©1R Tod (21 WIF BT HA® I (T | ) IRATWCT (FHIFINE
5l BITETE SRATT -mmmm



A) 3¢
B) b
C) 29
D) 85 =G A1foe Fa1 T ®

Answer: The question has been canceled.

Explanation: =96 ifed Fa7 2@®

5. Question: 'IIffe BIFGT IRATCT (F1 BICT ST JT?

A) (RoTaTT

B) Swi_Tfe

C) 59 AEFHSTH
D) CTGoo

Answer: D) (TGfbea

Explanation: 98 7 SersmiRae] 1w 371 Sifere G B1be (Olive ridley sea turtle) 831 I
FRATGCTE (THANLE |

6. Question: SiaT *fFFoF RO@S We-97 FFSF (& f@a?

A) SreT s
B) GYsTIFaferst
C) 1 2F

D) frieu

Answer: A) e oFg

Explanation: fRO@ e 9Fad fF27e S (@m Srar fefa uis b eEed Stes S (3@
@] BF FEF| - SIF® 6 N A IRF A6NRe FET| 9T AEF6T TN fofe @ aafre e
SIAed Ao (@1a P Je] FRIEEE SAfed1Re FE| - 0 Jre-] [FRIET IS e

TR (A7 AfSw Mou| RO T TTemd 6 Py szd F@F| - 8¢ BroE REE e S
@ I | (S]a: IR

7. Question: TRIF 29 (F1F (&N JI36?

A) G
B) A5G TfS
C) f5iee



D) I

Answer: B) AT5IGTRG

Explanation: IR (S T (A 48 FIETIRGE T TFaa1 - (PG SO AT S50
AT €3> 9FF 99| 9@ fEFF 2W s1fde | I JIFo AT IS 30 - INFRS 3w AT IS
(% - 3R 2w 3enfw| TN IEI (S STINIG |

8. Question: (FIGATT SRTH TT; TR OoF (2| WOF ST TS I (T | ) IRATCCT RS AT
FATAET R F97?

A) 8¢oo
B) 8¢¢o
C) @Yoo
D) 8boo A e Fa7 2A®

Answer: This question has been canceled.

Explanation: =36 16« $a7 2@®

9. Question: TP ey (F1 FRFIET AT fETT?

A) S fRF
B) TR f=i
C) (snfsyeer fR=rE
D) aretea faz1d

Answer: B) CT*[q fA=1E
Explanation: =313 fAeen ae= I2fIEEs ae foaee | - Mrew e T2 e (@i Fras

ey TR IRE 9T e THE S FE | - fofey Ty sfFgres RIS Jre-97 A8 e
TR FRAEIT

10. Question: AT STHSET F T A FH©?

A) IER
B) TS
C) (N
D) f&

Answer: A) 91



Explanation: - fSwa S : “f3’ - SIFIE S : ST - MA@ S - (F1T - NS ST
for T s[a: Ju FEMStE SR 8 ]S : 5@+ 7|

11. Question: A (FF T SHS SANRGCT TE Ffelz T BT FEA?
A) fo7313 I8 T[99

B) @@ *MSe 5%
C) STz fam@er 573

D) {7 T3

Answer: A) o7 IR T[99

Explanation: St ¢3-¢v EA F1Rt {83 97 S JfraiRaE EEd TERAE [ie @
(| O 9Hf6 v SferTRIRat S SISl ST 7 SW |

12. Question: S (T Y04 BIfFW (@FF IRTA@A ISNET6 5T IEA?

A) SIIRIT AT
B) 311 212

C) a%. a. Yfze

D) ferme e

Answer: A) STSHIT TSI

Explanation: - IRCTR S0 ASTES (A&7 14T f e SEPmiF (So(F, 20531 - fF8iT a8 s
ol A SIS TSI | - IRTATCTE AT ASTEH TSI AT 2GR AR - ISTACHH 2 0 (AF
TRATE O FEF 27 A JRe | Tz WFfo [F¥7F FFINTIT STINRG |

13. Question: MFIMEF STPIHIGT AMH@NT IRANE LSO FAF JINH W (F O FEN?

A) ST Afee

B) (RIOTS 12w CTRATS T
C) CTE TR 4. (F. HOT TF
D) S wa

Answer: B) QI XR% (TR T
Explanation: $>8% STEF Y© (HFINT MNFIIT AAATI= T A T AT ST Sgaeny

we Y 8 RGO A IRAES STIA IO SIos S REE TFIRNEF WIiF SXF FE« | 75
SR AT TR (ST O A 27| TN IRATCTR 2oz 8 frasTeser, F35-7s (1fe |



14. Question: f3aTre foasst ' fod Ty a7 foasa (F°?

A) ST S
B) Afgaat

C) a5 % [T
D) & T

Answer: B) I%3aat

Explanation: f&a Fo51 531 FT9=FT TS 9376 [27@ Bads | a6 Sobo S ST 23

15. Question: ICNF (S AJF© e -

A) T3

B) STREGISfT
C) Sf&ZTeT
D) ®3wx

Answer: B) TGI8

Explanation: I0T (S1d ASIA5TH SAE A0 - ©I0T {97 | AN, - N1 {eT a13fFe -
3NNSTE 3 - TRBT e, T I - e ENTSIASH (ST | TSz kIFR (SIS SHINZG |

16. Question: (AAIGTTIT SRTH T; ©F IGHA RANES ST AT FA®| TS QT (W3T 7
for1) Ry ST SfSETE 200> SR AT 5F (AF A0 IRACTH TTFT FoOH?

A) @62 93
B) v&N
C) &%
D) 9%

Answer: B) v©¥ ()
Explanation: RIS T T | A TFefed O (M8 IE | 200D ST Sy Z5mE [y
TRACTT ST oG - 5F&F | UNFPA 5110 g Siepstz Ay sfet@na-o030 SN, - IRTGCTT

FONTA (TG TATRAT $.89 (FIMB| - TTAT F(@d T S.S TORT| - TRV 0T IR A3
| (5fa: UNFPA website 8 T¥® A3f5{$T =6 SHAIGIR- IASTH, 20%0)

17. Question: (AATGFTIT SRIF TF; O Tad (72| HfOF ©F TeA® I (W3 | ) IRATT



TNRASF THHT 2058 AJII TG NFTGTT 2T ==nmv

A) Sb.A%
B) €9.9%
C) €b.%%
D) 4¢.¢% FG 1o Fa71 2 q®

Answer: The question has been canceled.

Explanation: =6 e 4T 2@®

18. Question: FIRTICCIA Y[GI(@d TAETIF (F fE@Ta?

A) (o fSTST T2
B) S TfGaR
C) (el a%. 4. & g5t

D) 351 T S F=ATA
Answer: D) 3599 (T IS T2

Explanation: - IR J[&@a NAEAIF foeTay 35737, O ST TN | - Fofer Pt IRemerT
TEFES B | OTF (F9te2 IRTWE o Afeire 23| fofaz TEiaem @ FE=|

19. Question: 'FAA" 932 BT FI?

A) SF@ e BT
B) SF® ed I
C) Ol Sed ST
D) SF© S Bl

Answer: B) 3F® Sled I
Explanation: IR FX SIEF 2AF606 (BARI) - F9F SBI6 QBIF STe: (3 QEI, (A, F+f1T,

], I 22T GBI 2eVIW F7F F9F OLIHe re: Soad, [543, 7fE, s Tenfvl awrers F@m
- ST TR, (FIRefd, e, A, M2 Fevf™ QEIF Se | T3z A w7 NS |

20. Question: STSIF W[EIH AT Sy FFIT© (AT T Ao Fo?

A) > T fFEneE
B) v I5f FEnfoE
C) 9 Fsf fFEnfieE



D) » I+ FEnfoE
Answer: A) >\ F5f fFENRGE

Explanation: (TR FHISE (ST SR NS NFfoF (ay 3 Aafcay oa
AFGEPT| - FfeT e » Isf f[FEfieF|

21. Question: 'Making of a Nation Bangladesh' 5% S6{3e71 (7

A) FTIT RIS
B) as. 4. FfIy

C) Sfers]s =23
D) &bl eI

Answer: C) Slfes{d F=AT

Explanation: Making of a Nation, Bangladesh: An Economist's Tale - I36d F6{eT ST o[z5eT
BT |

22. Question: SR 72

A) 36 ST J
B) a3fb FTHAEF A
C) 76 AHSIAT T
D) a%fb tAf%S@a o

Answer: C) A%Ffb IrRSINF 1

Explanation: SIapa!: - aft IR {{eJa @ fffe a6 Tafos safbal - 595 ST Jfeym
R WO foymraefd 9% b1 Slaag® 7 8 Bid AHAMET Sfeesoerd s Fo1 TA® SRR sl -
IREANTT FIFTE AT =AM FFATH TRSTE 9 HF 3@ | - Y EI@ o baa
"SITAGAT AIETTS ©ITSIF GPICHT | T3 TSI ©FF 0TI 3 WFo [T FFMTIT SHINZG |

23. Question: IRAGHT TF TG AGE @ FEEE A6 S@6 (TIRA?

A) GTTRIST SISt
B) F&T @ICT

C) IR BSeTrs
D) ©I{Fe S=em

Answer: C) IR 251



Explanation: IR B (ITEME SHIF ARG SIS (FHEH AMSEF 27 19 I, 2058 BIfFE |
- BIAOF [ SIMSES ATER ol T RTIEH RE ¢ S@6 e FEF| Ja: (FI3ac|

24. Question: fFFA FRHEF 3G AT FGII TN TPAHF A FFGAT (FH I @2

A) 305G-305
B) 05 -0
C) 2059-303%
D) 20%b-30%0

Answer: B) R05-303%

Explanation: - SfEFTaT FHPEF 216 "™ T TG FPIMAF ATFTAT 205G (IF 2030 93
(T 27| - FREACTT IS AL TFINAF AAFIN] IFITA FAR| - B TFINAS A{FIAF (7™
- TR YoX0 - T Y03¢ A2 ARG FRAHT STINRG |

25. Question: W 1% (G (The Blood Telegram) S3f0F (e ----

A) fI516 o
B) ST ST
C) =T SATS
D) ST (& 5157

Answer: A) 616 e

Explanation: IRTCTR J[&@ AT sTzey A P TRIMMF 3 TATF ST (& T Jbw
fIATe T2 2N W AT (GRS : [T T-F A 0 3 BIEHIT GEFRE | aft 2058 I JF 1 e
27|

26. Question: 3 I/NE IRTECTH FHF (I57T RSET SO F 167 *AfF{efo?

A) TR (G

B) RIS (51G
C) faramawz (5o

D) Ffean (srs
Answer: B) RITOTH (IO

Explanation: T (I57: - IRATECT RS THS SO J1 2T J51P (I5ET | - (9079 (WG *Tfere
RIS A1 Do BTSTF AP J(EAT TS (I57 T =S| - 98 RIEES BINGT 8 FRH Aoig TS (@ |



IRAGCT AT, ACNF 3 fAARTT TP 93 RS =T ANF 27| - 3 FI TIIENE S (57T
RIS BIIGT BT (TG J1T MAw | (az A 93 MOw a3 FRAPEET (@q6a3)

27. Question: @ fFa7e MM 577, CT4 JfFIF FTNAF T01e7 F1 (Poet of Politics)
Sy frcfeT?

A) B3

B) R@IIRIG

C) 3FTEIRF AT AACIVT S3FfeT
D) fASs B35S

Answer: C) @ IINF 9T BT SRPfeT

Explanation: * Y008 Wt RIS a3 SfE0T 359, O T T2 'TOH T2@H O IR (Ao1F
TN A1+ 29 (FFIMNE, S 6 T Y O BT T2HANE ' SA (7T (SIHIET
SRET| * 9 A6, SIS W 5% CTH Y[HIF FRNEA@ SISH Td' SN (Wef @, F. . AT 7| » ¢
AfFe, S99 ST TG, CTH YOI TR OO Hi S (7l [ SHS2P AT | T:
SIS ARG 3 =721 FeTh |

28. Question: IRATWCTR (FTF APA@ W Yo HASAIF (W T¢I 27?2
A) TR

B) o191

C) 589

D) feT6

Answer: D) f6

Explanation: 238 RS (.) feea SHRtaeTd a3 37 va@ T 8 a1 fofer fawrer sferge
[RIGIEIGE

29. Question: TG ST BIGIRSE B f1:-07 T MNWe NF-95 T (FA(H?

A) fGafst

B) 3ofzar

C) foasfsr azg aasif

D) 3T 472 245

Answer: B) 3Tf3am

Explanation: SETGTATE ST HIGAROT BUBAT o7z (WCTE I3 A3R JAT0 2SI AE FIRTAT T



SDOY NI (P18, TETE (ST e 2| TATON S>> ST AN S0 SF60 T FaT
23

30. Question: M&AENS F?

A) (F3TT T
S RIGEL

C) foazfa] 79
D) Ssfpeity I

Answer: C) foazfa’ I

Explanation: - STETS F(® SHFAIT ITGRNE JHI| - IAETS Fo® NHFTSIF (GRFSTET
e A3 STgiE @RI - MEAETS I (THFSBE [HES TI0E TTeTOH | - SHASA 3
@q@wﬁxw\mmﬂ%—wwwm—iwﬁvﬁwﬁﬂ

31. Question: (AT TICTT TSV RETH ===

A) ToT fiww
B) TS =9
C) T SIEw
D) 915 SIE4

Answer: B) 919 ¥&@4

Explanation: (9T SO 1S ety S8 Sanew | fofer Ser 27 Jr6s foeerer |

32. Question: T YT CNFTA (FTCIH (FROT $59-97 I STy feae,
A) S1fesa 3 w1

B) SIGIITAME SIS 7« FAT

C) srfifaa fzea fira fea aQe (FTTe SIgerga

D) 3gfima Sl 936 TfeaTT s

Answer: C) ST Rzt e *M&a Toa (FPIe SIFers

Explanation: (FEGTE (F1FT TAIET AT AMOOF N S | 33 (@ ST BT AGHT
STHTETH 2© (VF Rl ©33 HIGEa AHE | -

33. Question: TS RS JSANET ST (NITEF T0H TIF (R ==nmm-



A)SIRF F
B) TR
C) (TR

D) 33 IF

Answer: B) 21812

Explanation: ST SRSIE JSANET SN (AITRET S0 78T AR ST 2O H[@ dFe | T3z
TEAE TSI STINZ0|

34. Question: "SREAT TG (F1 AT Iely HTS f=2e?

A) f9306 AT6Y

B) & %1

C) 77 3T@™

D) wfger-5& affra

Answer: B) 7% Slf%31

Explanation: - 1Y% GAIFTA S JSATZ (T IS0 TIAG A6 T2 SERET, ST A "SR

Oy AN |

35. Question: "IN " (FT (MCT G 2eT?

A) B

B) (TS

C) 2I@id

D) M&EF CTMe@e 2T

Answer: D) @& (Nfo@® 20T

Explanation: (TfS@® 3SAIET S0 (AfTGH R SIAES $»b¢ N FFor 28T T
TRAF A3 (TR A o7 RIRTF Ao IR FEA| 97 N AITS [T TAGD TFF
FHAE 93 (TEFRP] R 6P TFF F0Y(6 7375 S| (@ REoHF Toa)

36. Question: SIAEF TN AEG GNIUH TIALRT IO TS APEH IR AR(AS AGT AT



C)s
D) s

Answer: B) ©

Explanation: STA(ed JHTAE! @4 (Al X058 S TNTIE FHOTT AN | - ©TF T TR ST
QS (TISEE IRE N SN ToI%e e | - SEas, fofd smely seer Mfb (@
Saal [ 1owe 2e1 T35 BRI o7 3537 7Nt

37. Question: IO T @ (TIfT W NS TefFena Iom 23?
A) ESES

B) (I
C) (FToIET
D) ST

Answer: A) a?ala. TS (Switzerland)

Explanation: Nf3d SII&T Fe1 2 SR I | - ST IS S (FT (& AT 7
IO AR N AT 93 RITYE 97 FJAfefg] AT ©1F 93 IfFNAE T 387 To1 2T N |

38. Question: (FAIGTTT SRIF TT; BR Tod (72| WOF BT S I (73 1) "Global
Terrorism Index' 2038 S AT TS JfF57f AT ----

A) fifaar
B) e

QEGIE
D) (ieiferay o1fe i F41 2@

Answer: This question has been canceled.

Explanation: 736 16 $a7 2@®

39. Question: SFIY AHIGES S FF IIFS] QET HFTF Gely (F1F (16 T TSI NAWeF
5% FER?

A) &

B) =Te frsfsifer
C) (ST

D) STT&IT



Answer: B) =531 faSfifey

Explanation: STy SET6 GNPIRIT NS STEOT FA© 200 ST 9 S AFTAICH
SIS (AT CIRETT MW FoTIforg 81d (MCTF TSI aF6 F5F THe Ao 27 -

40. Question: fFSIT @A 7 TF-1F6H 7097 T 8 T (A SF (SOOI A o --ee

A) FHH
B) Fferermsf
C) (FTNf6E 9%
D) FCIF

Answer: A) FRGH

Explanation: Comecon, byname of Council for Mutual Economic Assistance (CMEA), also
called (from 1991) Organization for International Economic Cooperation, organization
established in January 1949 to facilitate and coordinate the economic development of the
eastern European countries belonging to the Soviet bloc. Source: britannica.com

41. Question: (I3 aft ARISTNT SR 7, B T SEA J AFTI NHCH TCEAAAE2 Sad 2T
@33 T@) fFFeTE THew T 7o a9 =3-

A) [T
B) &
C) wfsper T
D) 5%

Answer: C) Wf3pel 3f3=T (South Africa)

Explanation: F1f&, F1f¥an, ©1Fw, S 8 uffse anfHaa a3 «ft ShimTe w¥Fifes (1 o sifde =3
fAFS| - 200 T v (F fF (BRICS) 51f@ 21| - 557 afefe TkF- S (Sroawrs TFIRSF
(NDB)| f& NCH: - AT $10-B3 SCIT 203 NEF » (6T, SEe 7937 fGdite s
PG T - $8-OF [FFT NCHTA 2033 TETH fFSIAN Tt areffde 2@1 T2 &% 93 B a7
NS SHITRD |

42. Question: *TRHF" XA

A) Si@a 936 ¥_AET am
B) Si=g 935G & T s e
C) thag a3t mEg am
D) Sieg a5 SeommEs a1



Answer: D) 8i@g 936 seemm@s o

Explanation: S2gF i@ 936 seawi@a o | 937 Siea Fafdar sweT I $& | Source:
britannica.com

43. Question: S>3 ST T3Y AR TS FAGTT AT A6 SAPAIY AGT FRACINTT
(Continental Shelf) ¥ =T f&f3 (FaT T-

A) x00 FfOET BT
B) woo G M
C) 8¢o B M3eT
D) wto AfGET AR

Answer: B) woo FfG@e A2

Explanation: $»% ST S3u A3 S8 FA@AT A1, - 936 SAFAT TNEF NN
(Continental Shelf) ST5T 2@ fSfS (3T 2@ wo AGFIT ART| - TN GF STEAF Wl - 00
AGFTIT A3eT| BN: fAGIAFL.FH

44. Question: "Y' (FT {6 (MCTH NG 472

A) OTFO-NIENTT

B) fraersna-Sia

C) ARTI-STH®

D) IRATTT- NI

Answer: C) IR T-©TFO

Explanation: STa1Ea AR SACTR IR (571 X124 7% | source: kalerkantho.com

45. Question: FIGIEEA] AGIFT IR ----

A) SIFSTKET T (NFE RFE §fe

B) snfeims s affs s f33< §fe

C) ST A& ANFIF [[TATF TG

D) Snfos e & foarral i33< §fe

Answer: A) STTeTER T GNP RFB §fe

Explanation: The Cartagena Protocol on Biosafety to the Convention on Biological Diversity is



an international agreement on biosafety, as a supplement to the Convention on Biological
Diversity effective since 2003. source: cbd.int

46. Question: S>> (AF 3TFIF [TTIF ARG TGIF FOIF TRETHT FAT 27?

A) 9
B) 8
C) v
D) ¢

Answer: B) 8

Explanation: (331 324, United Nations Environment Programme 29 3@ adjustment
S1dT amendments 257 &fb T 2@ ® | fF& Amendments List 4 ¢ f6 amendment a7 @11 (W3
AR ABOT, Department of Agriculture, Water and the Environment, Australia Government
AT SFIMRE Lf6 amendment 97 BT (M8IT TA®| WOF ToF ROTE b T H&T IF| AT b (T2
O ¢ WP HAR| ¢/Y TROR IIFE S @1 (NF ToF FA(© AEN | AT O 5T S
ooty |

47. Question: 'The Art of War' 534 I53wo1-

A) F553S

B) SIS SR
C) @f5ety

D) 5 8

Answer: C) (316

Explanation: The Art of War is an ancient Chinese military treatise dating from the Late Spring
and Autumn Period. The work, which is attributed to the ancient Chinese military strategist Sun
Tzu. Source: britannica.com

48. Question: IS 0T "7 5% @S 97 97F7-
A) ST

B) ©1F®

C) Smsag

D) 8=

Answer: D) 8%



Explanation: f5& (F1G" 211 SIwa 1 Fa1 1l Fnfefsy |

49. Question: 37 71} 3 z(=-

A) S (TN
B) v JI®17F

C) 3> 3

D) 8 1T

Answer: A) S (%5ITF (11th February)

Explanation: - 7 o1& f93 - 8 ACERF | - g Iandt 3w - © 16 - g SiEvay T 3 -
R | - 3 ST 3 - ¢ S| - g SIRRrs 3T fas - yo Mb| T: ST SHINRE |
50. Question: 'WIPQO' 19 vq wg&4-

A) FICTETS

B) &I

C) smifasy

D) (oeTeT

Answer: D) (3teeT (Geneva)

Explanation: WIPO a3 79 World Intellectual Property Organization 3T fR I 12737

51. Question: IRAWCT FEINNT AT P 27?

B)(ﬁ?@m{m
C) Gyt I A9 TaTS! TN
D)m(ﬁr@aﬂm—c—

Answer: C) (XTTYECJTHT{RJ ©F AFJe! A (During the pre-monsoon season)

Explanation: I F1&A 4% Af{364, ©rfenal 8 2o & S fofs F@ IRTIO0R SR
fSfeF AP S1AG ST 15T FAT I | A2 IQSE I () BF ToPH, (}) TF-CIA OF T, (\9)
M1t G THRF, 93 (8) TARFF| - A7 &Y 'MNF-CIPN OF MAFTT 97 W FINRT NI AT
2| Sfas S fafmeEs <2

52. Question: & ToFel RCR (F1 AT THBO 27?



A) T
B) &

C) 3R
D) ©feid=1

Answer: C) Ffqarg

Explanation: (31 ¥3@H SIS Wod MF© Jr6re KA st 2T G| - Sfie=T REbEma
@ R %7 fbfere Fa1 78T S YT MACER & Nodo! M 93E] ¥ 2| - AHE
T, FIHG 3 PTOTIRE (Ha JITSTT AT T | TNz T FTHE OON : S gy

53. Question: BIFGIT (F|F TGV N IRATECTT (FIE] TS (73?2

A) SIS
B) fataam™
C) fasar
D) AT

Answer: B) f@maTT

Explanation: IRFTCTE S ©TROA (o [5Ige ST Fewsz (N6 ¢fb JTewa s 7@ |
AT TCE: - AFCHIS - AT - TRV - fART 93% - FTE™ | (e Fronfge I, T&eeee 8
FISTTSIS A ST IRACCT TG (72| (SA75FAz SIS SATGeI)

54. Question: "' 51F TH(S IRTTCT (FT (SEPTR (7T TH?

A) STTefS$aT, ICTRF, HRAT

B) WG, ==, s

C) IBTT, SMRATH, FrGaIm

D) BESITA 3 1o SESI (SR

Answer: C) IS8T, STRITH, PO

Explanation: S 51¥ 2@ 6 IR T NS MRS AT FH1 271 4 THS® Gl RIS

&5 AfFRIT FE SNEW FH7 27|

55. Question: % SGF (FTAM? ==--2TST (A5 AFSETY FAT IATES |

A) B F5f6
B) =72



C) f3sa amwy

D) JAcede]
Answer: A) B3 F307f6 (Vaccination schedule)

Explanation: SJf337 21w, 91, 3 B F076t T82 A1 o1 (34, ST (@151 (3@ A6 26T 9t
MR Ao }© XF|

56. Question: (FTE A IO 213 FE AN (TPNFH(6 FTSTR oS 78 7 (5171 9 o137 %
FAEA?

A) (R8T SRATRP HT T (68T FREN

B) I a8t (%(C 56T IEA

C) (TTEE (RTT IHF (TSTF D= (TSNF FNES
D) SIEETH FTIPI%R ITHT SN S T (&

Answer: C) (SIT@E (RS] RMp3 (ISTF AR (TSIF FE

Explanation: - (%G1 91:* (FS1F (= (TS T M@ (1T, 4@ F© T @ A+6R MG 3@
E | - [T@T FE (=S 5 IBI0T CTS (F1F &7 ate A fofoimel FEma fofd 8 (@ M| -
(T TR FTRIPIR SR SIS T T Spw aHfFFa % SIETe1E ST (w3 |

57. Question: FPTSEE fSNCEN 9 Scanner 330 (F19 4T@F IF?

A) (FTEIGR 93
B) Out put

C) Se@2

D) Input

Answer: D) Input (995)

Explanation: FETES STRIES (T (1 HF@H =M, {00 (T (F (77 70510 232 FEESOIE @ 1831
| TGS R FEHASHNE (@I (T (@F1F ©XF (T (@A (AT (T (FTF KT INF TS T
FA I AN, FAF 936 2970 [SO1RT|

58. Question: FTSHIET FT (NI tof 27 3 fa?

A) aTfE
B) asfo®

C) (FIEAMGE 7
D) fyferer



Answer: D) fSfei@« (D) Silicon

Explanation: e TS, T2owTey 8 Faies S S T2 HIZE ST I1F I IS0 577,
e SIS, GIENT A3 AT EFEAFST NP6 (ale HITe 27| TS, FETSHIE 3T G
tofd e @ ((F%1@=T: Fundamentals of Computer)

59. Question: Back up (TS IT@ FI (JRET 2J?2

A) FIETHE 93

B) SISTA (TSN Zo(d I3

C) SI9e 3%« Undo F4T

D) faffIre ®13e 3 Fa1

Answer: B) ITF (AT @ I8

Explanation: Back up (STSITS 2( A5 %6 (AT I MR FEHSHIET B12eT, (HISTF I 9
(T (SN BT FE TG FHT T |

60. Question: 936 SO ESRT SIS FE (AT (I T ==--
A) I STEE

B) SIS WY

C) T =T

D) T EF YIF1b

Answer: A) 3 STI

Explanation: A5 SfESTE T fEORY FAR TITNT [INT FE@ 1| SINSI FE [IXT FAE
2, ST AT AT ST 2|

61. Question: T (F1H NRGH (FAIETT T 7I?

A) ekanei.com

B) Olx.com

C) Amazon.com

D) google.com

Answer: C) Amazon.com

Explanation: ekanei.com, Olx.com, amazon.com 93 SWINRESE 3FAT TRG | ASTNT ST



AR (FAEET FAT T | AN, google.com IET ©XF SITE FAF STRE (16 2f3a) |

62. Question: A (FMG =G Internet- 4 J@T FT 728 77?

A) Task bar

B) Notification area
C) Menu bar

D) Web browser

Answer: D) Web browser

Explanation: Web Browser is a software that allows a computer user to find and view
information on the Internet. Web browsers interpret the HTML tags in downloaded documents
and format the displayed data according to a set of standard style rules. With the help of web
browser internet surfing is easier. Source: britannica.com

63. Question: FIFTSLIF NI (V@ NAF© TI6T SEEET T&HO@ (& IE?

A) Read-out

B) Read from

C) To@T NISER
D) Read

Answer: A) Read-out

Explanation: SIa] I« FPOONE ©F T, ©f FRISEF (NENH© ST ATF AT TTT6I00 AT
IR ST FEHCHE BT GIENET (3@ Read (S @) F@ AN T9 FE AF | ©1R S0 G-
‘Read’.

64. Question: MICR-7 Tef& 5?2

A) Magnetic Ink Character Reader
B) Magnetic Ink Code

C) Magnetic Ink Case Reader
D) FIefez %

Answer: A) Magnetic Ink Character Reader
Explanation: MICR (Magnetic Ink Character Recognition) is a technology used to verify the

legitimacy or originality of paper documents, especially checks. Special ink, which is sensitive to
magnetic fields, is used in the printing of certain characters on the original documents.



65. Question: I (FEH CIEES TRATS?

A) Data Definition Language

B) Data Manipulation Language
C) Query Language

D) TEF YISER

Answer: D) & NISER

Explanation: (GGIE@S FE IR SWNOISTT | FROIGHIF AIZNET AT T BREF JCT ] NFCST
BT, A O] RFHT FHT 2 (GOIEE | FFDIb SIGIES TMRSTS: - Data Definition Language - a6
AF HFEIF TGRS RIS @A (GO IFF 3 S2™I AR T7F fJ+T FE| - Data Manipulation
Language - 237 9% S9F SI6IES RIS 1T NIRIET (SoT 215w 23| - Query Language - 231
AN 9F YT TRIFS (FH OXT (AT, B ST 970 27|

66. Question: (T (ABSFHL HROTH F© TIET (ofF 2T?

A) 2008
B) x00%
C) x009
D) 004

Answer: B) o0%

Explanation: {3518 SIS SI@: TSRS I3 AT NRFEHPRETT 956 SFTINRG | - ZROIE
FIREFEA TETS vo AFHEF 6T AMEH-T0 3 FFTT FA© TES (R26 FI© TEH)| - 300G HET
SIF SN, (TR a1, {8 GO, 2o ST RRo1H AV FEA| - RROIET TONA 23 F
AN | - 97 T 5T TSN JSAEGT FCHIN I TSNP T2 Aq5e | G337z FROIET
ST |

67. Question: fIEa @ ME TG FEEN ST O FHW?
A) I0S

B) Windows phone

C) Symbian

D) Android

Answer: D) Android

Explanation: Android - T TG 3 SR FRISHIET el [ fefes sromafe: Sieo |



68. Question: (AR FISIAETE 4G-17 (F@ 3G 97 IR AfefAe &F1ES F?

A) S (BTl

B) fof&8 e

C) (I3 fofe

D) FGATS TLIEEE (AT

Answer: D) §GI7G 2BIHE06 (ST
Explanation: of 13z 8f% T&32 97 A0 AR @RS 336, I ©1F 92 F7 Fe, GTRRE

LG T5R2F, 6753 Fe F4T, (NA1RT 6fS Fevw [T 27 3| ©F 8 (0 (T [ =[5
Sfefie REE T@R ©f T GIRRT FCHS ILEE0 (71 S3Y: TI9-7+1% (IfIq o7 T3fe 33|

69. Question: Oracle Corporation--a3 afeSTeT (F?

A) Bill Gatea

B) Tim Cook

C) Andrew S Grove
D) Lawrence J. Ellison

Answer: D) Lawrence J. Ellison
Explanation: Oracle Corporation $»99 ST sIfd@ | - afe¥reT - Larry Ellison, Bob Miner 8 Ed

Oates| - Wi&AWEH - (FGSS (T, FHAGIAIT, JSATZ| - TSN TN V13t F3(F7 - Larry Ellison
T35z ST FCAETN SHINRG|

70. Question: (ST (NF I FAT GI6T (FRT AF?

A) RAM

B) Hard Disk
C) Terminal
D) Clipboard

Answer: D) Clipboard (D)

Explanation: fF a6 =7 Tg-(A0T TIHT COIES (ST6T IHIHS T01 T ATF) | BT TN 967 [0
S| - Cut, Copy and Paste 95 S5 (F 16T S FAT 27 (61 9PNEID: HCHEE M FHEed
MEE FITCN TRAFS | - THIGIO (R ST61 FAETE (A Iy SIS A0 F1 5789 77| - g
SIS B3 T3 (W] NF(® M| O, Clipboard (& CHifi%s Sag I« 7T |



71. Question: MEINANT FEHEEIF & FE AT (FEMG ofd F1 NT?

A) Supercomputer
B) Enterprise

C) Server

D) Network

Answer: C) Server

Explanation: 52 37 Se1&F AT FESCIF 9FTNR IF I@ (F6331%F (of I IF| @
FCHIT (T3S TSI BT, BT 3 AT S foTSwa ey CTAE FAT T

72. Question: IYHST TRETEE FHTHT Fo TORI?

A) 1. %%
B) T¥ vo%
C)1>3%
D) 9v.5%

Answer: B) I¥ vo%

Explanation: IRFSETR SHATAETIR: - ARCEE : 9.0 TOR - IATHG : 20.95 SR - ST :
0.%0 MR - FIFA TR-TFRS : 0.0 TORN - FEITATH : 0.8% TOR - HfFTFel § FfAFT : 0.08 TORT
- ST ST : 0..0% TORT| (Faz TEMT 8 FAHET : FIH-T (TN AN T [{EEAT 9.5% FAdF
Ted|

73. Question: fA TERA® SRFTTR N (FA06 RIINEE FI F1AF 717 519e?
A) =T @

B) T

C) fo-anrpfes Sorer

D) 2T-9NFfeq ST

Answer: B) PTeIfAey

Explanation: R¥I1RT FF NHHT HT TS T Foo 9N (8 27|

74. Question: IRACTT F (F FF1?

A) TSN 1 51T 3 TS



B) &T-TTe Afifons
C) IteTN fary
D) H9-IXF TG I

Answer: B) 51257 J{{wE

Explanation: IRNTCTE FX 419-9419 fA{S TREEN 4@ | A0 (CTH FF TH ST 2
TS5 S AT |

75. Question: fJEF (FH6 9w (Hazard) 99 To7% To19?

A) IfdfeF

B) STNf&

C) A sTe
D) JTFPTHISTS

Answer: C) Sfa@TsTe (Environmental)

Explanation: GRS 31T SIR4, 2053 SN, “S=W (Hazard) ” oY a5 (F19 TSI Toa
2T MNFFoF o FET, FIFIF T FTACET TN AT FIET Y8 2271 A AT FoFHT [T AGES
T M TSI SiFaanay fom ¢ exfes Ty fifos F@ a3 S fodeg sEoay

SAATRA BIRT 3 ATFAY HOWR T3 T 58 S|

76. Question: T T [ASH FIOE T TH ST TSNS 2T (F1 FISO NLFVCT (T?

A) TFIT
B) ETST S5a FHFTS

C) i1t =31
D) 3% (Risk) fofzewae

Answer: C) yi&15T 51

Explanation: 3% o1¥ @i, fA=mysererd Somre a3 AfHEeTa oie: (31 31 SEHE 8 THerd B
@@\9 S FloPd A3

77. Question: ATHNeS TSI TTTTANT (Ha (NS (T THT T 2T TAEE B0 2

A) S ™
B) STe!¥ "1

C) T AT
D) FNSG @



Answer: A) 3r%feF "M@ (Regional level)

Explanation: 3761, ST 91 SNLfAF T @ T3 92 FAF (6 FNSAMG T I3 2 FAE
©f TAEE @ HA] 3@ | T AT TR Thod F9 (6T TTeSE NI Noed FaT I O
AEF HTs] 2|

78. Question: 5374 ST fF-EFE FONT 59F (F?

A) SRS 8 sffel:

B) sifer: 8 v

C) 72 BT 3 TG
D) 8IS 8 fsp

Answer: D) 83654 8 f&%

Explanation: (RS SIS f3fSw (F1er DNA Sid THF 93-(F (F0 ©FF R =T QrfeeEe a3
©IF (ST (12 RIISTE AT FE S> o ST DNA 95 S5 AR FES (S STGHA 3 HIHS
3| - 9% JTRFIE MIFTEF T O] S b3 HE (IR TIFA ® FEF | T3z fFeae a3z

S »>F-So3 |

79. Question: REMANIT @ ST6TT T7f?

A) T2

B) (1%

C) e
D) Snfay

Answer: A) (&2

Explanation: - ReNEnfIa sufsm swoly swixf| - T@F T 1 T REMeEnfIa 99 953 Tmed
TP Ty | - RO F15 TR (WF AT SI2 FE FAOF AHIZS FH 9T F71 (W@
FII-TR-IHRG T2 FE FHHET I F47|

80. Question: (FTF MANF TFGNF RS I 77?

A) (FTST

B) 11 2fHel
C) (¥6d

D) &6



Answer: B) Je5T 2fFef

Explanation: Camel is known as “Ship of the desert” because only camel is the means of
transport in desert and they are usually used to move from one place to another. source:
dw.com

81. Question: PH X(el--=---

A) afvG o=

B) afT 8 F1F &

C) F1F e &

D) afSte, 1 8 farTger s

Answer: B) afTG 8 F1F At &

Explanation: pH X a5 A5(6 137 I 51=T (F130 X i 1 A 1 Seimnaer afSifos, Sy s
IBEIGEY

82. Question: (NAT fFeTs fa@ma @ Il TTIv© 3J?

A) A@ET aH
B) st &%
C) A& afn
D) X- a7

Answer: B) s 331

Explanation: A3-(F 97 TITR: - JIF TAGFAC, - FARTS 201G, TS 75T T HI6eT, (SF J3T TS, -
TNEF fCOET (@1 I5F I TR (F1F H(OF ATF [FefF, - (S~ [T FIOF I3 N GRS
feite RTHEES AR © Y@ (F9 FA© 97 977 5370 2J|

83. Question: A% IFTFT 9F(0 TFNF MG ----
A) T& I3 TR I

B) (FTTITGR o a7

C) Y& ST ST

D) I& AT FRR(© AF

Answer: B) (FT@162 5f6% a3

Explanation: f3f&s SIT71¥ a3(6 5231 e o AT FITF (F e AF ©F G130 AEF 27|



84. Question: TAT® (MR T IO AJH (WF (FA?

A) ST =T (3T 2(® (W7 1

B) T M NAMIA (g i@ A& §F I
C) AT e Ao ST Tl F

D) IS MeoiF 7% 3@

Answer: B) ST1E T YA (3T fa@ THE ;@ IX

Explanation: By blowing air around, the fan makes it easier for the air to evaporate sweat from
your skin, which is how you eliminate body heat. The more evaporation, the cooler and more
comfortable you feel.

85. Question: fAEF @ IFG Toy q7?

A) TN FTSFITCT (15 8 fTSET ATF

B) (AT NS IANTYS

C) ATFEN TS NI

D) TFES NS N SFATT fEeE a7 F&

Answer: C) 2EFEN AP ANYAIG

Explanation: T&F fASFACT (3164 43 fAS8Ea W@ A3 [TSHINE (40 3@ 2EHa aTod FE|
TS - (AT FI (JT6 3R

86. Question: (FIET TAT© ATAT AIT (AT TF I =meem

A) STIGTE
B) (STGIRGI

C) w«ﬁmf%
D) Bfes St 35

Answer: C) 919315 I (Spectrometer)

Explanation: SIS Af3F Y& a< (Detection of Charge): (I TE@ ETE TG foA@s
5% T AF0 AARS T T ©fSs THeT IEF (TR W8 bIFfere = FA® &1 =7 FAE
T Fefo1e 6 %1% @ T BIR(T JH(© T ITF6(0 AHF DM A M 578 (6 %1 1 3 ©RCT Jae
3@ A M (@21 SfSS TFer J@F TR N JF103 ¥l T F771 IR 1 T 7 - 7 (A7
s feer 3R (S@) |




87. Question: 4T (FEG (IfF: AMETNEF I TAMHT TS ?

A) CaCO3

B) (NH4)2CO3
C) NH4HCO3
D) NaHCO3

Answer: D) NaHCO3 (Sodium bicarbonate)

Explanation: ({3 STGSTH T SATI X (TTGAT IR TE G| (F AT T (ST Sy
TS (52 MOTIH IIRT FH1 27| (T2 OGN FT SAMES @6 NaHCO3. T35z -7
TR IS JE6 32

88. Question: AFfs, ATTA 3 FIEH JFfoEM AT B F© H4T@H?

A)x
B) ¢
C)s8
D) w

Answer: C) 8 - SFR4! {65 517 ¥A=H|
Explanation: Wﬁﬁ@zﬂ:\s, TNGE ©F AT 932 FIEF TProtet @Tﬁﬁam © JJEF| I - -

GRS I 55Ty, - FEITC I o5y 933 - FeAF AR o5 | Tz SIAIB TIH-77
cafer)

89. Question: =33 (F ¥F@F (I 71T 1fdw?
A) Dt

B) SitaiftRs

C) AT y3@g s

D) fA0 8aE@g SRS

Answer: B) IefSs

Explanation: 3333 R0 s3@a et (ff 71a7 sifde | 93 (11 (wate SeseT 2 o
TGO I ©IF IR 7T | TSH2 FAIF-IH CIAF ST TR (@16 3

90. Question: (F1V SR I QINRHTFOIT IAHF?



A) 34
SERE]

C) 57T
D) 8%

Answer: C) 35 (Mars)

Explanation: In general, the surface temperatures decreases with increasing distance from the
sun. Venus is an exception because its dense atmosphere acts as a greenhouse and heats the
surface to above the melting point of lead, about 880 degrees Fahrenheit (471 degrees
Celsius).

91. Question: FTF (T© ARG TSI TJ?

A) SEETS
B) AhIeTe

C) 99 (J19
D) GFE-SI6IF (We

Answer: A) S[Uio

Explanation: T3S 3 J3112@ MAF TET B S0© 936 I 1 53T, STSIF JT ATSIF, (S AT
1T I O (A8 T1pfes = I1F 3 @ &7 37 S3e0@0T =7 I=F 1 JF 5T0F T 37170 271
(SR BTG (A1 ANTS TOIF 2F| TN IRAIGAT 432 FNASS|

92. Question: FRTANCTH AT Frol TS el (7T IF?

A)S

B) 8

C)w

D)}

Answer: B) 8

Explanation: SFaa(a SEAIST IR A1 Ny AR fbay 2fer 93 337 2f=ef| T3
BIGIEICRIT

93. Question: ST AT 77 F1?

A) MEEF G TGS AT T
B) N[ S SHeTerd fMFSE S



C) SIS IHAHIAT T G AT
D) ST ITITIFTA NFT G ATCAT 3 JIA

Answer: D) SIS IR TJEF NCHCT ATTET 3 JIA

Explanation: Sifefam: fsfamg 3@ afe7 ethics ATT® 51 71 ethica 8 @B 1= ethice
@@ | 274 6 At 3% 7= ethikos (¥@ | I3 ethics 97 3w T 2 ethos I 91 2@ ‘B,
AGE-[RT, ‘Tfe-Afe’ a7 TSy |

94. Question: N (F1 (7T ARSI SCETES 7?2

A)F 3 5T I (T

B) nafted {3

C) 2w e far

D) @i faman

Answer: B) Sidf%a {Fa

Explanation: SifSfaw: Sfefamg 2@ af$ ™ ethics ATT® 31 1% ethica 8 @TfBa 1% ethice

@@ | a1 7f6 At f31% 141 ethikos (@ | A1XT8 ethics a7 ST T3 2T ethos I 91 2T ‘BfFw,
AGIF-TIRR, ‘Afe-Ffe 31 “SreTT |

95. Question: JME (Values) F1?

A) STES ST NI NI 7% [Aef1ger

B) S&Ta N[ Afed1fas I faafTaes s e
C) STST S M S 28T TTEAT NATSTT

D) @R SMEAT SHCEAFIA S 3 T3

Answer: C) TS SIF@ JEA 53 28IF TFEAT TS

Explanation: - 3[FTETY X1 AEFF G HHEITAHIE MA0S 3 NS | - FANET FH 3 TS
TS5 R SRR | AT (AR FR TR S[oeA1 2| - (@ P samay anfeSifas Tos 2
e =Gt TENfeE Sifedite, o, &%, S 3oy JHETET Jaes S ReTE [Ehe | (5@
(RIS S SIS : AFTT-G19T CTT : SF¥Ta)

96. Question: SPENAF IJEHENET f6fs F1?
A) SRS TS

B) @iesel
C) ST



D) RCRIGERERIGI
Answer: B) @feFer

Explanation: S[TETY X A A6 AHEFTAFIA Ao 3 MATS| - SIS JTEIES fSfa a1
ST X ARG T, A oFel, ST, FIEE, SO, TUNE, F2TiTe]l, NN e], ToF
AT, A (GO 8 FEING TSN (S[as TF NTHF (NANS : ST, (TSVEHNT 2F)

97. Question: STNET 33‘%‘ LI

A) fAEeTg SIRe 53]
B) TN@S fFCISer
C) ferauTs fera Tv=7%
D) 3 JFCT FTeT

Answer: B) TN f9q0Se]

Explanation: SPTN@S JH79: - SAfuRe], - ARG M5, - T%=e], - TFFFTe] 1 Fo THCTH
e, - eI TaTer, - (35], - A &P JTO! SJAF], - ALTAREEH T SHGOT
Reiv|

98. Question: X SFIF 5 (Millennium Development Goals) SIS SPINES (1 6
TS ST (W] TAR?

A) SPTNEE SENfe
B) SPTN@R stere1fa s

C) TNER FTEned o
D) TR Srftfos e

Answer: B) SPT@H sire1fad fus (The democratic aspect of governance)

Explanation: 25 SFIF %51al (MDG): - MDG ag iﬂ?ﬁr Millennium Development Goals 7
T2 SIS THY| - Frgah 57 Wiw GHRFAEE STeT TSR FoF e I 08 THE
MDG J1 2|

99. Question: JARER (BT T ABIAF THNA | ----TRATCE RIHET Fo 9599 AT 4 fasTer sw-

A) §197 09
B) 9741 89
C) 9147 @9



D) 974129
Answer: B) 9747 89

Explanation: IRNCTE SIFHEF "SI AT - 97 "GN SAEFE" SRETF 39 72 o[l Jfdo
TIR| IRY - X9 : AR GB© THO] FHe AT A 200 ST A2 AR ST AT AN
AT TN RTINS |

100. Question: ) Johannesburg Plan of Implementation SPTS@S N7 [ (719 RFITE
P SFY (WF?

A) TAEF (IR qF
B) %o Sxg

C) &7 afSd=g Tama
D) (&2 SFFw

Answer: B) T:$fos SFT«

Explanation: Johannesburg Plan of Implementation ST S5 Sustainable development

(5312 TaFw) a7 RAITE AfiFed 97 (M7 T3 Sfok AHET FEIF STINRE|

101. Question: ) PN {6 SFTH (FT S5 TSN 1T FE?

A) ST

B) 38.44.f5.f3
C) AR.A7.9%
D) frrames

Answer: B) 35.99.f&.f% (UNDP)

Explanation: R8T 000 NI FFPT FE (I SPTSEE GG T4 38 26T Wi T, Toel, SR
T 8 T2l |

102. Question: ) fAATTF 8 &N sterNEnE SIIf3fs RFora soam?

A) TS FIHIFT
B) T JIHII
C) Pr1E Sersrem@a

D) SPTE

Answer: A) ST SITHEF



Explanation: fqatTs 8 <&t sterMefera STefsfore spwe afev] I1&Tsrs 271 T35 (a8
ST~ ST (ATRIEW (ST 29

103. Question: ) "TFFR-OFN AOEF FH{@T 9@ "MTFE" | - THHA [AHEY 9@ I/ TIRNE-

A) G a8, Fe At 8%
B) =G B, fFeifd asm
C) YR 8%

D) YR 8%

Answer: C) 7BRR 8%

Explanation: F-5{ad = (% 9,91 f&F Sy IR AMF ©F ©F *F 'Y 27| {FF o, 91 727
AFE ' Y| AR TARIT A3 AANTEE T4 51 IS8T | ST IRTI SR JyTFFA-FIA T (A

104. Question: ) AT @ IAE0 87?2
A) SIS

B) Wiy

C) JAIf¥

D) XAIFt

Answer: B) Sfafy

Explanation: ST ; A3 (-Fe7) (o) or2fs QT SiHat S5: IRAT AP AfSHTT |

105. Question: ) @ IFHG BF?

A) tefveT ST T3 AfTCIF T
B) ey STwT 12w eI E 9%
C) tvelveT Ya1 F2ed SIAeTF 9%
D) el & J2(ed ANEIAF 7

Answer: C) Wayel ST 321 THETF a3

Explanation: 93T tielie] =<6 e, 93 SHa* EN el | HXF TH(oF N[O F57 XEM 2T | SINFRA
ST 8 Mfzey f&esnt,©. (Nfm CTae|

106. Question: ) 'Consumer goods' -1 & & IR TSN J?



A) (oT&1F Fee
B) (7O SNBT

C) ®=3P© ey
D) (STSIyFery
Answer: C) I99 T

Explanation: Consumer goods -(STSIysTely (JT TSI ST SIS (N1 (FAel A5, (SPNH
ReIfu) | @z FREAT PSR ATSHT

107. Question: ) 'S T STNNF 7 (FAH?

A) stferer
B) Tus
C) =

D) Sy

Answer: C) g

Explanation: 3T o7, S0, J1F THSE S Md STNNF 7| 5 Selfsy fb T Pu'E o RF
| SSMARAT OFT 8 Mifzey f&es™,S. (Nfa (=]

108. Question: ) (FF OS] [IIOINF 7?2

A) SToET- ST
B) ¥93-¥®

C) sifFS-afis

D) TB-13

Answer: B) 999-"T99®

Explanation: 2258 T&To] [IeR(® 77|

109. Question: ) "5 FT =oF I FI?

INKIREES]
B) 7@F &«
C) it
D) 719S



Answer: A) TIJe!

Explanation: 55 [S@MCN (IR s @ A fae 31 s e sa@fue | ([em)
STefv@a ST O J7 AT @d &0 | {(SSTH I TRF©) T+, ©% T T} [az IRAT IO
ST

110. Question: ) IR B CNfeIF JIRTAFT 27T F©7?

A) se fo
B) »fG
C)ss o
D)afe

Answer: C) 5s f6

Explanation: IR ST (NIfei TIER{ 26T aff | 73790, 90,3, 8,9, 307,83 | SYF:ARAT ST 8 HI2e)
s, . ChfSra crE|

111. Question: ) IRAT S % NN 27 ] fA@S (@1 STI?

A) ST TIET

B) ¥, ¥, 8 o fod & N@2 =¥

C) TSt (AmsT

D) fomt fFaes TiaT

Answer: B) F, ¥, 8 5 fod T2 2T

Explanation: IR =1 SO FEF6 SN XEN: - TR AT - SHACIS N - IZICET JE -
TS (T - o1 TRATST FeNIf0 | ST ARAT ST 8 iRy e, . cnfia Crad|

112. Question: ) "9 & [ (FHG?

A) @fere

B) @&

C) ey
D) =

Answer: D) 9

Explanation: 3 (fT735): S 31| TN IRAT 9FNS SIS



113. Question: ) (FA6 INFF @87 77?2
A) @sTreT

B) SFTEHT

C) a3

D) Isifes

Answer: B) ASTEgT

Explanation: 336 1Y% I fSATD 8¢ NF- - WFTET, - WSS, 3 - @TST| ANG I (FIAT
8 FF| SJ@- IRAT ST FFF, FIH-TT (T |

114. Question: ) fAGa @ TG SN EG?
A) 3

B) SIe

C) fqegst

D) Af3we

Answer: B) 9]

Explanation: AfGe <6 $5e1T &S|

115. Question: ) @A ' T V% NfH[EW (FA6?

A) 851 + S
B) &% + 31915
C) fas + 5yt
D) &5 + orm

Answer: C) fgs + 316

Explanation: aft 513 Wfére 77| weww &9 Ffafmfa S a o=ft ame o9 (3@ f&Afew
SfeETeREF TRAFR 0T AF | 6 TIHH AT G H+NIF = (T SoF FAE|

116. Question: ) "5 W& (I NAF SURIT?

A) 78

B) 92413
C) %%



D) Y

Answer: C) 79

Explanation: g6 0T = 132 (& 1 IAE@ (FRIE FHERT T 2| 58 NERI=R 56 fofar
TRI | SR ST FFIT TIF-TTT Gt

117. Question: ) 9T @@ HA-AFIOET SuRgd 93?2

A) sRf-fFefy

B) Siferfe

C) wifsifafzfe

D) anfestius

Answer: C) af3ifafzfe

Explanation: fSef&31a 91 =@ T 6T ST IR STHE FFIT FTIH-T5F (I

118. Question: ) YIGEE @1 AW AT (2 (I FII?

A) =

B) =i

C) &

D) ST
Answer: A) T3

Explanation: 5X19a YAGEE @R g I6fFer 15771 f6fd ve 6 o e o@ oig aftw 18 ™
a6 AT AT JISTT ©IF ANAFS a7 27 5% G

119. Question: ) IR NR(SSA ATBT I fawfa (FEG?

A) forga@a o

B) SIfod 1
C) 3f*erad Sy
D) ("RIIE

Answer: B) ST AT

Explanation: &SI =TS 'SH1W'(F (MRIE TGN TFTT FE | 5X77TW RE IRAT RF o6 o
AFHTE frafe | ST IRAT ST 3 2wy ™, T. Cfta Cri|



120. Question: ) O FTQF 237 ST TACT| -1 FI?

A) STITEETSTH X 8 ¥ AF2 T AT I (5T
B) *EF T 16 &1 =T
C) SIITBETRN S SISTH [N JG (7T (5T
D) BTG S&CT T AT 26T

Answer: B) @& 0T (S5 e 2T

Explanation: ST ST 51T, ATQeT J 1, SINF NN (O16 | JOIR, ST [ 23 ANHF TCT o0
121. Question: ) FTIFH" FIF T641?

A) ST (W

B) Siqf

C) Haa fira

D) (57F% ST

Answer: A) T M

Explanation: - FR&Tf 3[eTe FA M ANST FAEF G| - 9 TS ©FF (T 5166 FI=Y 3T
(5T ST TR (19| afb R S e 2o ST TPNEe (SLad) ATTI 6o T3
TR FE TIFA O |

122. Question: ) FBEAFNIT I 94 (F?

A) IR 78

B) M« wa

C) ®19eb™

D) w8 1%

Answer: A) $E1RF 78

Explanation: 35 F1&5 Y} I AT TH TSI T | OO W& SEATST 2 - FIANRIE 76 -

AT 73 - STTOE - (GO - TA bI6! B | SIFFRT ST 3 MfRey Fs™1,©. Chfera CriF|

123. Question: ) "THEE 75" FaFF T foE@a?



A) (5feS 2T

B) % AR AT
C) SRferme

D) & F1 S

Answer: B) 5% @ faamsta

Explanation: - STTEIR WSl S{asT ST==weT] FEF O F16 AT | - A 203 FF10 27 (&, Yk
S| - af6 T3 IRAT TRF FAqF71 - st *far affed, Svsw SN 5 FTE AR Tl
FEA| - At T IRAT AFFUTHN IS Ta/MHF AGFT1 Tz RS ANNFE (T |

124. Question: ) (FF6 5IT6 [AWTHSET AFSH T2

A) Sgfe FART
B) IR FT
C) SIraIF2T

D) SIsIb{{®

Answer: C) 9T
Explanation: - I ST S IS T FET KI5 (AW | - ST AN TAT 13

A7 ofae 37 SresfEe | - IR TfRtes smidifed TT6F8 HHa64 [IWHSIF| BT T3S ANNFS
GEIYG

125. Question: ) FITAN SIFEF TH[FET A0S FRF foe?

A) ST fFrming
B) ICNER (FTF
C) (RIGAISTR JeTgiN
D) YT fSTeTst

Answer: A) PRI Frendug

Explanation: FTR FE1eTST 1 701 S15@E T F@E o f$6rEG | source:
prothomalo.com

126. Question: ) (o [« TS’ F1F Ffbw T%?

A) SETEHET (T

B) sy fAfr
C) aqyet fim



D) =¥ (B1y T
Answer: B) a3

Explanation: (¥ 37 731G - Z1¥ (BIYAF 9316 F3%a%|

127. Question: ) IRAT TIRCSY TN TF FGE 6T (FA62

A) Stesfer
B) IS
C) STAF AFTwH

D) T
Answer: A) Stersfer

Explanation: 3@ N wg b© 'FHFNQ IRAT HR(SF TN NF FGE A6 |

128. Question: ) "FAFFIAT (F19 TPfo Toa11?

A) ST Sy
B) fR@mnes a6
C) fexifiF e

D) (RTSTES ST
Answer: C) @fex1fN& Sstamsy

Explanation: 3FN64 SEATY F6® IRAT NIRSTF T @RNH 3 fG61T SA1F SHATT FAETFI
(5B LY)|

129. Question: ) (FAfb FILICAT 3G TI?

A) FIETF Ta1F R Bferte F na?

B) < @ibet fami@= IGA 3 Aaig |

C) =TT NTof¥ SR AN ©TR (R OTF STHT A2
D) SIfs S @St snas g ArmE |

Answer: B) f& aifeef fmi@= 364 I F011 FE
Explanation: FIUACATH SG5(© 53¢ - FET JA R BfAE F 137? oMerd JF A= AT ©1F (=

I NFeT AT 3 oo [Re@= 3G (6 a0id e | [F ATt [Rrgarsy sn6s @ s 53476
FIEIEAH SIS 77|



130. Question: ) &t (F?

A) T SoTF STEat
B) MRTeTA® TH1NES Tt
C) T THRIIT T A1
D) FTre1F® It SREF aFF I

Answer: B) TeTat® TRHEF 3t
Explanation: ¥TSTR(ed SAATR M@ Wafie SIFE SI3IT-5M3T], FMe-Hfs, (S~
SPT-FAET, &3f-arsf 8 S-end S61F | AN SIa Fo! [T s, saffed IR, ITT =iy,

=18 A7, e 331, Faarer (eorEar @rh, S @ FEE R 174 5 Taaadiy) Ssw:
CIGIE IR

131. Question: ) ‘eI 2@ COAST" ----5THIH FIF (TAT?

A) T3F© AT

B) R R

C) T3F® 3

D) SMSTFSHIT 2

Answer: A) T3Fe I

Explanation: STRSTEESTI 2N "[HeTe G356’ siEs3d fSfea 21re coase st Jfeyama
TR Ao | "JEeIe S35e" S BIEfb 59 F@®|

132. Question: ) "TTIF AFSTA F1F b T5?

A) A. (F. T TF
B) T TSyl
C) N3] G 21w AT S

D) 35 T S F=ATA

Answer: A) 4. (. 25T 3

Explanation: 3535 (T4 J[&JF T2 A7 SIS % "SI SRS |

133. Question: ) T =T (F IS BT (O1F FIFC| ---n- TAGT NSFTH (F?



A) N SET S
B) &=

C) 7 I

D) ¥ 832w

Answer: B) SIHTFNE

Explanation: 95 S22y Se{33 ST H81 Mo Y@ CTH STMRYF 72N | SR e
ST SR (MG ISNET A |

134. Question: ) "GF FFAT Faf%E@ AT (F?

A) JENE FEF

B) 2 SIXET

C) CTH fermmie St

D) BT W

Answer: A) SENF AT

Explanation: MG T SefEa foleflo] O 3| S33: IRAIGAT

135. Question: ) QAT TS F1F T6AT?

A) ST T
B) ST (G
C) F=ma ST

D) fesfter=y Sef
Answer: B) SIIJT RIS

Explanation: ST 6T =] 89 97 Toa1| ©IF AMEFL F(Te] FHTel, 4 T<6i6 Ferg AT
FEIT | (T IFRGA 4 TG SIS SO TN Q] FEA |

136. Question: ) fIa @F TRSTF AGST 2© GIFF JQITT FEF?

A) ST I
B) 2y T
C) Fevef fia
D) (TS &

Answer: B) 233d Ffaq



Explanation: Sgfad 1o ARSI F9e R [FE6A F11 27 - (NE 5°1(& | - G191 'F91fe
(T F -9 AfSVTST (T 577 |

137. Question: ) [T (@19 SHWICT IR Jfe@led TN b7 AfFe 2@®?

A) (MET IIEFF ' foINEH o
B) SIfSf&is (TEH ' L6 2T
C) T TN ' A8 M
D) ST ST EmI@e ' SF-for

Answer: C) ] I ' J18 A"

Explanation: 3-76% {32116 ST IT FTe1eT SIRSTS S[NIeT SO IR ST (7T 9H16 JRS
SAATT |

138. Question: ) 7% : Ff 1 AT : ?

A) CTTIIT
B) 3f&
C) IFFa
D)ES{

Answer: C) &3

Explanation: 1 CTT I1Y F1 0, ST (w1 T (61 A | N1, Fef 972 55f T FIo¥ 9
(BT RF© =

139. Question: ) (F1H IAH6 BT?

A) Ffe@mter

B) S=TSeT

C) TwrEaAt

D) afe@ifsrer

Answer: D) afe@firer

Explanation: Sfe@Ifsre TG 8%

140. Question: ) (F1A6 8% JA?



A) T3
B) &
C) =7
DERE]

Answer: B) T5[d

Explanation: T35 94 8%

141. Question: ) Cricket enjoys a huge in Bangladesh.

A) follow on
B) fall out
C) follow
D) following

Answer: D) following

Explanation: Following 3% & a1 551¥& | Follow on (556 @0 a3 5| Follow 97 Siepstael
FAT| IEIE FEHG A Following 2 TF 3% Tl

142. Question: ) Who wrote the following lines : "all at once | saw/a crowd, a host of
golden daffodils"?

A) Keats

B) Herrick

C) Shelley

D) Wordsworth

Answer: D) Wordsworth

Explanation: | wandered lonely as a cloud That floats on high o'er vales and hills, When all at
once | saw a crowd, A host, of golden daffodils; Beside the lake, beneath the trees, Fluttering
and dancing in the breeze. ---| Wandered Lonely as a Cloud BY WILLIAM WORDSWORTH
143. Question: ) What would be the right synonym for "initiative"?

A) apathy

B) indolence
C) Activity



D) enterprise
Answer: D) enterprise

Explanation: Initiative - the ability to assess and initiate things independently; enterprise.

Initiative -- SWTST Indolence --TSfI3[@T Apathy--a1tz], 3w Enterprise-- I8

144. Question: ) Which of the following words can be used as a verb ?

A) Mister
B) Mastery
C) Mistress
D) Master

Answer: The correct answer is:
D) Master

Explanation: 321 'Mister' =68 9% 'SqT"; 'Master' =67 3 'MfeF'; 'Mastery' *=fod arf
'TeR | 'Master' Tfoq 91X 'FOY F1,7F 6] S FAT | Master - acquire complete knowledge or
skill in (a subject, technique, or art);gain control of. Source: Oxford

145. Question: ) Who among the following writers is not a Nobel Laureate?
A) T. S. Eliot

B) Toni Morrison

C) William Faulkner

D) Graham Greene

Answer: D) Graham Greene

Explanation: Mr. Greene never received the Nobel Prize in Literature. source:nytimes.com

146. Question: ) The correct passive form of "You must shut these doors" is------

A) These must be shut doors
B) Shut the doors you must
C) Shut must be the doors
D) These doors must be shut

Answer: D) These doors must be shut



Explanation: < Modal auxiliary & active sentence-(? passive F19 3y object-( subject+5&
modal auxiliary+be+3[ verb-a3 past participle form+extension IRz 2| - B AT AT
Sadfb IOF |

147. Question: ) The film was directed in the director's usual style.

A) confusion
B) Purifying
C) personifying
D) idiosyncratic

Answer: D) idiosyncratic

Explanation: Idiosyncratic - distinctive; individual. So, FGHG 14T Idiosyncratic 2 2F|

148. Question: ) Which word is the determiner in the sentence "Will it take much time™"?

A) will
B) take
C) Time
D) much

Answer: D) much

Explanation: Determiner 2% noun/pronoun a3 fafuger, Aifafmger, S 7 AfF = FEmT<|
Option ST J&T will R Auxiliary verb, take X finite+transitive verb, time X object+noun
a3% much X Determiner.

149. Question: ) The play Arms and the man is by-

A) James Joyce

B) Arthur Miller

C) Samuel Beckett

D) George Bernard Shaw

Answer: D) George Bernard Shaw
Explanation: Arms and the Man is a romantic comedy in three acts by George Bernard Shaw,

produced in 1894 and published in 1898. The play is set in the Petkoff household in Bulgaria
and satirizes romantic ideas concerning war and heroism



150. Question: ) 'He was a rather "disagreeable" man'. Here the quotation is a/an-
A) Noun

B) Preposition

C) Adverb

D) Adjective

Answer: D) Adjective

Explanation: Disagreeable 3197 man (¥ modify $9(%, so disagreeable is an adjective.

151. Question: ) This could have worked if | been more far-sighted.

A) Would
B) have
C) might
D) had

Answer: D) had

Explanation: Main clause 4 could/might have+PP of verb 2{,if clause 4 had+PP of verb XS

152. Question: ) The 'climax’ of a plot is what happens-

A) in the beginning

B) at the end

C) in the confrontation
D) at the height

Answer: B) at the end

Explanation: Climax (% (3 M6@4 37 STEF &S 30 97 turning point (I Soa1d i’f%? QRS
S F691F Tod BF 27| JodR, Climax happens at the height of a plot.

153. Question: ) Choose the pair of words that expresses a relationship similar to that of

"Harm : Damage"-

A) Sweet : Sour
B) Hook : Crook



C) Stout : Weak
D) Injure : Incapacitate

Answer: D) Injure : Incapacitate

Explanation: Harm and damage pose similarities. Here, injure - do injustice or wrong to
(someone); incapacitate - deprive (someone) of their legal capacity. Source: Oxford Dictionary

154. Question: ) Othello is Shakespeare's play about-

A) A Jew

B) A Roman
C) A Turk
D) A Moor

Answer: D) A Moor

Explanation: Othello, in full Othello, the Moor of Venice, tragedy in five acts by William
Shakespeare. Source: britannica.com

155. Question: ) In the 18th Century the Mughal Empire begun to -

A) discriminate

B) Dislocate

C) differentiate

D) disintegrate

Answer: D) disintegrate

Explanation: Disintegrate-break up into small parts as the result of impact or decay. JIg1%™
TSP (ST TS (ST AT AT F (ST Jame disintegrate *F 1 Source: Oxford

156. Question: ) Being fat does not necessarily kill you, but it the risk that you will
suffer from nasty diseases.

A) increases

B) emphasizes

C) encourages

D) involves

Answer: A) increases



Explanation: Involve - cause to participate in an activity or situation. JogNR, ISERBIRE @Kﬂ?é{ﬁ?
G| 7 FROTE involves T@ TfdF S|

157. Question: ) The poem "lIsle of Innisfree" is written by-

A) Dylan Thomas

B) Ezra Pound

C) W. H. Auden

D) W. B. Yeats

Answer: D) W. B. Yeats

Explanation: The Lake Isle of Innisfree W. B. Yeats

158. Question: ) Riders to the Sea is-
A) an epic poem

B) a novella

C) a theatrical adaptation of a poem

D) a one-act play

Answer: D) a one-act play

Explanation: Riders to the Sea is a one-act play by John Millington Synge.

159. Question: ) It is time to review the 'protocol’ on testing nuclear weapons. Here the
koteson word means-

A) Problems

B) Summary

C) Procedures

D) Record of rules

Answer: C) Procedures

Explanation: Protocol- the original draft of a diplomatic document, especially of the terms of a
treaty agreed to in conference and signed by the parties

160. Question: ) amazing song haunted me for a long time.



A) These
B) Those
C) Thus
D) That

Answer: D) That

Explanation: In the sentence ‘song’ is singular. So, the determiner must be singular. Here in the
options only ‘that’ is singular.

161. Question: ) Let us beging by looking at the "minuter" of the meeting. Here the
quotation word means-

A) time record

B) time frame

C) written analysis

D) written record

Answer: D) written record

Explanation: In business writing, minutes are the official written record of a meeting.

162. Question: ) The noise level in Dhaka city has increased "exponentially"”. Here the
quotation word means-

A) amazingly
B) shockingly
C) steadily
D) rapidly

Answer: A) amazingly

Explanation: Exponentially-more and more rapidly. Source: Oxford

163. Question: ) Which of the following writers belong to the Elizabethan period?

A) Samuel Beckett

B) Alexander Pope

C) John Dryden

D) Christopher marlowe



Answer: D) Christopher Marlowe

Explanation: Christopher Marlowe was an English playwright, poet and translator of the
Elizabethan era. Source: britannica.com

164. Question: ) Women are too often by family commitments.

A) confused

B) controlled

C) contaminated
D) constrained

Answer: D) constrained

Explanation: Constrained - appearing forced or overly controlled.31&5d ©TEF ST constrained 2
St |

165. Question: ) To be, or not to be, that is the question - is a famous dialogue from-

A) Othello

B) Romeo and Juliet

C) Macbeth

D) Hamlet

Answer: D) Hamlet

Explanation: “To be, or not to be, that is the question.” From Hamlet, spoken by Hamlet.

166. Question: ) Class relations and societal conflict is the key understanding of-

A) Feminism

B) Formalism
C) Structuralism
D) Marxism

Answer: D) Marxism
Explanation: Marxism is a method of socioeconomic analysis that views class relations and

social conflict using a materialist interpretation of historical development and takes a dialectical
view of social transformation



167. Question: ) Societies living in the "periphery" are always ignored. Here the quotation
word means-

A) offshore areas
B) backward regions
C) remote places
D) marginal areas

Answer: B) backward regions

Explanation: Periphery-the outer limits or edge of an area or object;a marginal or secondary
position in, or aspect of, a group, subject, or sphere of activity.

168. Question: ) The idiom "A stitch in time saves nine" - refers to the importance of-
A) saving lives

B) time tailoring

C) saving time

D) timely action

Answer: D) timely action

Explanation: A stitch in time saves nine-So@F 43 (H1G ATHFF 7 (BT TIET AB1R JHI (T THIF
P T ] FACT S ST 77| X3, 4 FAM(E Timely action 97 3% (S (|

169. Question: ) Which is the correct sentences?

A) He insisted to seeing her

B) He insisted for seeing her

C) He insisted in seeing her

D) He insisted on seeing her

Answer: D) He insisted on seeing her

Explanation: The word 'insist' is usually always followed by the preposition 'on'. source:

cambridgeacademyofenglish

170. Question: ) The phrase "nouveau riche" means-



A) Riche rich

B) Well off

C) New high class
D) New rich

Answer: D) New rich

Explanation: nouveau riche-a person newly rich. Source: merriam-webster.com

171. Question: ) What would be the best antonym of "hibernate"?

A) dormancy

B) Democracy
C) sluggishness
D) liveliness

Answer: D) liveliness

Explanation: Hibernate a1 faf%3er 93¢ liveliness 47 & FHesTwT|

172. Question: ) | am in the process of collecting "material" for my story. the quotation
word is a/an-

A) Verb

B) Adjective
C) Adverb
D) Noun

Answer: D) Noun

Explanation: Material &G noun 93 adjective 732 2¥| & 1336 A6 noun RETE F172©
A®I

173. Question: ) Depression is often "hereditary". Here the quotation word is a/an-
A) Adverb

B) Verb

C) Noun

D) Adjective

Answer: C) Noun



Explanation: Hereditary (adjective) Meaning: (of a title, office, or right) conferred by or based
on inheritance. Bangla Meaning: SatTauml F18; TA=TH15TS; THTO; (FITF; IS
Source: Oxford Dictionary, Bangla Academy Dictionary

174. Question: ) Find the odd-man-out-

A) James Joyce
B) Thomas Hardy
C) Joseph Conrad
D) George Eliot

Answer: The correct answer is D) George Eliot.

Explanation: S*PTeld Joseph Conrad 8 James Joyce - SIfa(% JTF (7¥% | ATTH, Geroge Eliot
8 Thomas Hardy - SR JEF (T3F | ©R JSRONST (Fa 95T o T T =11

175. Question: ) Find the odd-man-out-

A) The Bluest Eye
B) Sula

C) A Mercy

D) As | Lay Dying

Answer: D) As | Lay Dying

Explanation: The Bluest Eye, Sula, A Mercy 2= Toni Morrison 43 S5 43% As | Lay Dying
7= William Faulkner 98 Ssay1s|

176. Question: ) T W 20% F ISIF 12 SIF1F 7 ACTST 2f6 Fo7 @R =183 (516 T6 T
36 FF 9N FO bIFI?

A) 4.00
B) 2.50
C) 3.00
D) 1.2

Answer: B) 2.50

Explanation: 0% 2107, SGH 3T = o BIFT TS Soo BIHT T IS T o BIFT I & BIFT
T IS 3T wo/Soo BIFT JIAET b3 BIFT T TON I (o x S3)/ Soo BT = 5.4 BT} & T



FOINF T = (53 - 9.8) = .8 BT . S 6 FAF IO o5 = 3.8 + 3 = 4.3 BIFT

177. Question: ) 60 {51 T TCT A 8 FHAF Ae[T© 2 : 1| FHIF TOIF =AfF{1T Fo {0 I
FAE IOl 11 2 2E?

A) 40
B) 50
C) 70
D) 60

Answer: B) 50

Explanation: fofIs-: F@a GPNET FIE IO SAfer= {60X(2-1)}/1=60 fFHE1 fF7w-22 Yo o=
FRrI0eT SCIE J AR (Yox?) / (3+5) = 8o fAGIH| JOAR FAAE FN I (Yo-8o) = Yo G| Frrefore
S 3 FAHH JCTH TS S:% F(© (T FHF T ATH© 2 (80x}) = bo G| oAk FHTF A%
fSPI® 2@ (vo-20) = Yo BT

178. Question: ) GG AT 5T 1. 8. 11 97 7. 1. 8. 7700 A3 ST 275 X(T, A T2~
A) 318

B) 279

C) 283

D) 308

Answer: B) 279

Explanation: S5 SeIf% = (TS X TS )/ A6 SFam1((SeT 5122m16) =(11 X 7700)/275 =308

179. Question: ) x-y=2 93z xy=24 3(, Xx-3F ¥JHF NA(o-

A) 3
B) 4
C)5
D)6

Answer: B) 4

Explanation: (x+y)2=(x-y)2+4xy =22+4x24 =100 .". x+y= +10 ¥ A fd@ x+y= 10 ...... 1)
XY= 2 i, (2) (1)+(2),2x=12 .. x=6



180. Question: ) |x-3| < 5 (-

A)2<x<8

B)-4<x<-2
C)-8<x<-2
D)-2<x<8

Answer: A)2<x<8

Explanation: SRR §&, x-3< 5 .. X < 8 S &, -(x-3) < 5T, x-3>-5.". x> -2 9}, -2 <
x<8

181. Question: ) 14 & (NETRANGH NS (V@ AT TG AFTIFR 11 THF 9P (H@6 e
IO IR FT IMF?

A) 728
B) 1001

C) 364

D) 286

Answer: B) 1001

Explanation: 4T AFS@ A0 (@ 11 ST v IR FIE SN, = 14-1¢11-1 = 13¢10 = 286.

182. Question: ) 100 S FEFINF ST TG 777 70| AT V& 60 S =IaIF 5TG 799 75 3,
RAMS 56 93 97

A) 55.5
B) 60.5
C)65.5
D) 62.5

Answer: B) 60.5
Explanation: & 51 (MG 7¥99= 100X70=7000 60 S RIS (NG F79 = 60X75= 4500 40 ¥

RI@H (A6 991 = 7000-4500 w7, RAGS TGS 5T6= 2500/40= 62.5

183. Question: ) 50 S (FIFH A 35 T RE, 25 Tl RE 3 IRAT TOIR A3 A(ONF2 26
B I8:® AF6 SN FT IA© AT | IR FoId FUT I© TNET?

A) 10



B) 15
C) 30
D) 40

Answer: C) 30

Explanation: 50 3« ((T($<F AT REO© FT I 35 T BY IRATT FAT T = 50-35= 15 aﬂﬁ%,
FRAT 8 RES SoF ST FAT I 25 I | JOR, IRTF (N6 FIT I = 25+15=40 I+ |

184. Question: ) CALCUTTA =ifbd I(3ENE 9@ 9@ AT 4T AMERICA <=6 IS
3@ fA T sk Fo 8a?

A)5
B) 3
C)4
D) 2

Answer: C) 4

Explanation: CALCUTTA *=ifGre (3116 o= 8 6, I 31wy 26 C,2fC A8 2f6 T sjeank o1 fRamsy
ST = 81/(21212!)=7! SNAE AMERICA =if6a (N6 9% 7 6, I M A 261 Sfodn (NG fFeysy s
= 71/21=71/2 3018, T4 THf6d s fFoiufoa [Aamwa 71/(71/2)=2 8

185. Question: ) .09 x ,ooY X ,009 =?

A) .0o0b3Y

B) .5xbo00

C) .coob3 Y0

D) .coo00b%3Y

Answer: A) .ooobN3Y

Explanation: .09x.0c0Yx,009 = .0000053Y

186. Question: ) fyea 938 MfEE @FEG I9NE? S, 3, ¥, 8, VB8

A) Sdbo
B) 280
C) 8L3ro
D) w80



Answer: D) w80

Explanation: 5x3=3 3x8= b ¥xb= 8% 8 x= 908 SJodR, Wr8xs0=9 8o X(J|

187. Question: ) STATH FI= AT6f6 SN, BB F51F M= I I FIGT So I 4T 9T (NG ¢ BIFT
2[?

A) So

B) sa

C)ov

D) ¢

Answer: B) ¢

Explanation: IMf = 0.¢ox¢= .¢ BIFT fifF =0.3¢x b= 3 BIFT (BT 2@ So TN NS =
{e-(2.@+3)}o.50=¢ B

188. Question: ) b 97 F© MORT bb (E?

A) SSo

B) Svo

C) »x¢

D) s¢o

Answer: B) bYo

Explanation: %,5 A7 o1 = (bb/53)x500% = 5%

189. Question: ) (3/x)+(4/x+1)=2 (T x=?

A) 1
B) 4
C) 2
D) 3

Answer: A) 1
Explanation: (3/x)+{4/(x+1)}=2 1, {3x+3+4x}/{x(x+1)}= 2 V,7x+3=2(x*+x) T, 2x3-7x+2x-3= 0 91,

2x2-5x-3= 0 91, 2x*-6x+x-3= 0 91, 2x(x-3)+1(x-3)= 0 91, x-3= 0 [(2x+1)= 0 is not acceptable] So,
x=3



190. Question: ) x-3 - 0.001=0,x2=?

A) 1100

B) 10

C) 110

D) 100

Answer: B) 10

Explanation: (W337 97, x-3-0.001= 0 1, 1/x3= 0.001 91, 1/x3= 1/1000 =1, x3= 103 91, x= 10 .".
x2=100

191. Question: ) log3(1/9) = ?

w N

gom>

-3
2
Answer: C) -3

Explanation: log3(1/9) = log3(1/32) = log3(3-2) = -2.10g33 = -2

192. Question: ) 936 STER AJFEIF fFOIT Ui’ -48 AT TP Tulb 3/4 2, STHTHT A TG F©7?

A) 1/2
B) 1/4
C)-1/2
D) -1/4

Answer: B) 1/4

Explanation: SIFET S, (F19 STTSH HTRTE ¥ 79 a, NETET IS q 2 n ©F 74 = aqn-1
oA, fTel¥ W= aq2-1=aq=-48 .. a=-48/q ......... (i) ST TP W= aq5-1= agd =(-48/q)q4
[(i) 97 3 IA] = -48q3 T, -48q3= 3/4 1, q3=-3/192 A1, q3=-1/64 1, 3= (-1/4)3 .. q =
-1/4 I3, TR SIS = -1/4.

193. Question: ) e 3G TN BrEd TN (T TG IHE? 9/?2=2/98v

A) 9



B) a9
C) wgw
D) 8>

Answer: B) 99

Explanation: SIs=1 &fe, < SRENCe, S¥ AFX T A= T PR .°. (3T F1P7):=9X 08w F1,3T
FF=V(280%) .". T =8>

194. Question: ) logax=1, logay=2, logaz=3 3{, loga(x3y2/z) a9 ¥1d $97?

A) 1

B)5

C)2

D) 4

Answer: B) 5

Explanation: loga(x3y2/z) = loga(x3y2) - logaz [logaM/N = logaM - LogaN] = logax3 + logay2 -
logaz [logaMN = logaM + logaN] = 3logax + 2logay - logaz=3x1+2%x2-3=7-3=4

195. Question: ) 2 (.1, TR 236 a7 9183 9316 FsfFEa o176 I= 93 Foft T/ AT
TPEH (Fasd Fo I5f OL.I7.2

A) 211+4

B) 2m-4

C) 41+8

D) 411-8

Answer: B) 2-4

Explanation: 367 (Fa%e= 1r2= 411 F01.F. 5RO (Fawe= el 352 = 16/2 = 8 FSfo1.M1.

196. Question: ) fAEE AFAF (@1 <6 AfSHe? -> 75.PNG

A) TENSION

B) RELATIVE
C) NATIONAL
D) RELATION

Answer: B) RELATIVE



197. Question: ) foed fota (NG F3G fags aM=? -> 76.PNG

A) 59
B) b
C)sv
D) 2o

Answer: B) 3%

Explanation: 63 SI9pTI@&, fAgsaw© 26 - AABC, AADF, ABDE, ACEF, ADEF, ADEO,
AFEO, ABDO, ABEO, ABDP, AODP, ABEP, AOEP, ACFO, ACEO, AOFQ, ACFQ,
AOEQ, ACEQ 932 ABOC| Jodk (16 fags 20151

198. Question: ) f46 o (116 F3G fAgs A=? -> 77.PNG

A) oft

B)so 6

C) afe

D) vfo

Answer: A) f6

Explanation: f5 SIE, fa@as @ 26T - AABC, AABD, AACD, AAOB, ABOD, AAOC,
ACOD a3z ABOC| sfed1 (6 fags w5l

199. Question: ) 2 V» 8 V3¢ ? - TIEHF I N6 TE?
A) ¢

B) @

C) v

D) &

Answer: B)@w-3V»=3x3=4,8V3¢=8x5=30, Y- =0

Explanation: ¥ — 3 Vd> - © 8 — 8 3t — ¢ b — b JodR, MFST FHF 28T WM 3@ |

200. Question: ) TARHSF I (1 AT INE? -> 78.PNG

A) 8



B) 9
C)»
D) 3

Answer: B) 9

Explanation: ST f6a (A&, U8+ b =t — B -9=) (V@) M Ba @, 0L+ L =Y > Y-C=)
(ST S BT (@, ¢v + 9= — b - b = X JOFR, TIFEF I 2 IE|



